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Motivation Review H@
- GL1 finding(matching) study was made by Takashi and Genki

- Most recent study made by Genki
https://indico.bnl.gov/event/24711/contributions/96287/attachments/57049/97903/20240904 streamin

g timing.pdf

- Try to reproduce the result and want to do cross-check
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https://indico.bnl.gov/event/24711/contributions/96287/attachments/57049/97903/20240904_streaming_timing.pdf
https://indico.bnl.gov/event/24711/contributions/96287/attachments/57049/97903/20240904_streaming_timing.pdf

Some QA before GL1 matching ratio calculation H@

FPHX BCO(INTT) vs bunch #(GL1)
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Some QA before GL1 matching ratio calculation H@
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Result(Run 50889 / All trigger used)

- Hot channel rejected.
- InttRawhit used(before TrkrHit)
- 50,000 events used.

- #of GL1 triggered events : 749
- # of matched event : 289

- Ratio : 46,365/50,000
~0.927.. =92.7%
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Result(Run 50889 / Clock trigger selected)

- Hot channel rejected.
- InttRawhit used(before TrkrHit)
- 50,000 events used.

- #of GL1 triggered events : 749
- # of matched event : 289

- Ratio :289/749
~0.386 =38.6%
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Result(Run 50889 / MBD N&S trigger selected)

- Hot channel rejected.
- InttRawhit used(before TrkrHit)

- 50,000 events used. T
- #of GL1 triggered events : 5454 = ot .
- # of matched event : 5831 ; S .
- Ratio : 5454/5831 = =t |
- ~0.935=93.5% F B
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Result(Run 50889 / MBD N&S 10>vtx trigger selected)

- Hot channel rejected.
- InttRawhit used(before TrkrHit)
- 50,000 events used.

- #of GL1 triggered events : 9355
- # of matched event : 8886

- Ratio :8731/9195
- ~0.950 = 95.0%
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Summary TabIe(Run 50889 / 50889 events InttRawHit used) EPHE@

50000 46365 92.7%

Clock 749 289 38.6%

MBD N&S 5454 5831 93.5%
MBD N&S 10>vtx 9195 8731 95.0%

- | can see the matching ratio dependency on Trigger type
- Ratio result is relatively higher than previous result

-  Why do we have discrepancy?
How much ratio is supposed to be?
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What about GL1 matching?
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@Genki’s slide

Trigger type?:
The trigger type (clock, MBD N&1 >= 1, etc.)
should affect to the GL1 matching ratio.

Thanks to Jaein, | could get information like:

::GetTriggerBits()

trigger_vector = gl1_->getScaledVector();

< > rtn;
while( trigger_vector != 0 )

{

this_bit = @ ;
this_bit = trigger_vector & 1;

trigger_vector = trigger_vector >> 1;

rtn.push_back( this_bit );

The matching ratio is always too low.
| think I’'m wrong.
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Only 1k events were analyzed for each trigger.
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